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Quiz Date: 5th April 2020 

Directions (1-5): Study the information carefully and answer the questions given 
below. 
Six persons Z, Y, X, W, V and U lives in a building having six floors with the ground floor 
numbered as 1st, the floor above it numbered as 2nd and so on till the topmost floor which 
is numbered as sixth. Each of them has different pets viz. Rabbit, Mouse, Pigeon, Deer, 
Squirrel and Dog not necessarily in the same order. They also like different games viz. 
Baseball, Football, Boxing, Volleyball, Rugby and Skateboarding not necessarily in the same 
order.  
Y lives above X. There is only one floor between the one who likes football and the one who 
has a pigeon. The one who has a pigeon lives above the one who likes football. V likes 
skateboarding and lives on an even numbered floor. The one who has a pigeon likes either 
boxing or volleyball. There are three floors between X and Y. The one who has a squirrel 
does not like Volleyball. The one who has a deer lives on the second floor and likes neither 
skateboarding nor football. W, who lives above X, has a squirrel. The one who likes rugby 
has a rabbit. The who likes volleyball lives on an odd numbered floor. There is only one 
floor between W and X who do not have a deer. Z likes boxing and stays just above the 
person who likes volleyball. The person who lives on the topmost floor has either dog or 
pigeon. 
 
Q1. Who likes Baseball? 
(a) W  
(b) V  
(c) U  
(d) Z  
(e) None of this 
 
Q2. The one who likes Skateboarding stays on which floor? 
(a) First  
(b) Second  
(c) Fourth  
(d) Sixth  
(e) Third 
 
Q3. How many floors are there between the one who has a deer and the one who likes 
boxing? 
(a) Five  
(b) Two  
(c) Three  
(d) Four  
(e) None of these 
 
Q4. Which combination is incorrect? 
(a) Mouse-Skateboarding  
(b) Deer-Baseball  
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(c) Rabbit-Rugby  
(d) Squirrel-Boxing 
(e) Pigeon-Volleyball 
 
Q5. Who among the following lives on the third floor? 
(a) The one who owns a Rabbit  
(b) The one who owns a Squirrel  
(c) The one who owns a Pigeon  
(d) The one who owns a Dog  
(e) None of these 
 

 
 

Directions (6-10): Each of the questions below consists of a question and two 
statements numbered I and II. You have to decide whether the data provided in the 
statements are sufficient to answer the question. Read both the statements and 
answer– 
 
Q6. How A is related to S? 
Statements:  
I.  M = R ≥ S > T ≥ K ≤ L 
II. A = B < T = N > F = G 
(a) If the data in statements I alone is sufficient to answer the question while the data in 
statement II are not sufficient to answer the question. 
(b) If the data in statement II alone is sufficient to answer the question while the data in 
statement I are not sufficient to answer the question. 
(c) If the data in either statement I alone or statement II alone are sufficient to answer the 
question. 
(d) If the data even in both statement I and statement II together are not sufficient to 
answer the question. 
(e) If the data in both statement I and statement II together are necessarily to answer the 
question. 
 
Q7. How P is related to M? 
Statements:  
I. Q is daughter-in-law of M, who is son of S.  
II. T is mother in law of P, who is son-in-law of U. U has only one grand-daughter R, who is 
daughter of Q. U has only one child. 
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(a) If the data in statements I alone is sufficient to answer the question while the data in 
statement II are not sufficient to answer the question. 
(b) If the data in statement II alone is sufficient to answer the question while the data in 
statement I are not sufficient to answer the question. 
(c) If the data in either statement I alone or statement II alone are sufficient to answer the 
question. 
(d) If the data even in both statement I and statement II together are not sufficient to 
answer the question. 
(e) If the data in both statement I and statement II together are necessarily to answer the 
question. 
 
Q8. Who among A, B, C, D, E and F is the shortest? 
Statements:  
I. D and C are taller than A but both shorter than F. B is taller than E. 
II. F is shorter than E but taller than B and D. while A is not tallest. 
(a) If the data in statements I alone is sufficient to answer the question while the data in 
statement II are not sufficient to answer the question. 
(b) If the data in statement II alone is sufficient to answer the question while the data in 
statement I are not sufficient to answer the question. 
(c) If the data in either statement I alone or statement II alone are sufficient to answer the 
question. 
(d) If the data even in both statement I and statement II together are not sufficient to 
answer the question. 
(e) If the data in both statement I and statement II together are necessarily to answer the 
question. 
 
Q9. M is in which direction with respect to Q? 
Statements:  
I. M is towards north of O, which is towards the east of Q. 
II. Q is towards east of N, who is towards the west of M. 
(a) If the data in statements I alone is sufficient to answer the question while the data in 
statement II are not sufficient to answer the question. 
(b) If the data in statement II alone is sufficient to answer the question while the data in 
statement I are not sufficient to answer the question. 
(c) If the data in either statement I alone or statement II alone are sufficient to answer the 
question. 
(d) If the data even in both statement I and statement II together are not sufficient to 
answer the question. 
(e) If the data in both statement I and statement II together are necessarily to answer the 
question. 
 
Q10. If all persons are facing same direction, then how many persons are sitting in a row? 
Statements:  
I. A is on 11th position from the left end of the row. B is on 8th position from the right end 
of the row. 
II.  M is 5th to  the right of A and 5th to the left of B. 
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(a) If the data in statements I alone is sufficient to answer the question while the data in 
statement II are not sufficient to answer the question. 
(b) If the data in statement II alone is sufficient to answer the question while the data in 
statement I are not sufficient to answer the question. 
(c) If the data in either statement I alone or statement II alone are sufficient to answer the 
question. 
(d) If the data even in both statement I and statement II together are not sufficient to 
answer the question. 
(e) If the data in both statement I and statement II together are necessarily to answer the 
question. 
 
Directions (11-15):  Study the given information carefully to answer the given 
question. 
In a certain code language,  
‘sword satisfy revenge’ is written as ‘ W15T  B10T  V15S’ 
‘negativity motivates more’ is written as ‘B24O  H30N  V20N’ 
‘sinners shall pay’ is written as ‘H14T  O1T  B1Q’ 
‘no discounts’ is written as ‘L15O  H45E’ 
 
Q11.  In the given code language, what does the code ‘H30E’ stand for? 
(a) sweepers 
(b) plumbers  
(c) doctors 
(d) duffers 
(e) None of these 
 
Q12.  What is the code for ‘evil’ in the given code language? 
(a) V3S   
(b) V2.5S 
(c) O14F  
(d) V2S 
(e) None of these 
 
Q13.  What is the code for ‘suffer’ in the given code language? 
(a) M5U 
(b) U5.5M 
(c) U3M 
(d) I26T 
(e) None of these 
 
Q14.  What will be the code for ‘V41U’ in the given code language? 
(a) Torture 
(b) Panther 
(c) Grave 
(d) Yard 
(e) None of these 
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Q15.  What may be the possible code for ‘swords’? 
(a) H15T   
(b) W2V 
(c) J2.5V   
(d) P5.5I 
(e) None of these. 
 

 
 
 

Solutions 
Solutions (1-5): 
Sol. 

 
 
S1. Ans.(c) 
S2. Ans.(c)  
S3. Ans.(c) 
S4. Ans.(d)  
S5. Ans.(b) 
 
Solutions (6-10): 
S6. Ans.(e) 
Sol. From I statement alone or from II statement alone we cannot find any relation between 
A and S but from both the statements we can conclude A is less than S. 
 
S7. Ans (e) 
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Sol.  
 
S8. Ans.(d) 
Sol. From both the statements we cannot comes to any conclusion so neither from I nor    
from II we can’t find who is the shortest. 
 
S9. Ans.(a) 
Sol.  
From I , We can conclude that M is towards northeast of Q. 

 
From II, we can’t conclude the direction of   M with respect to Q, as there is no fixed place of 
M. 

 
S10. Ans (e) 
Sol. By combining both the statement together we can find the solution. 
 
Solutions (11-15): 
Sol. (i)-First letter of the code is obtained from reversing (A-Z, B-Y…) the last alphabet of 
the word.  
(ii)-The last letter of the code represents the next letter (in the alphabetical series) of the 
first letter of the word. 
(iii)-The number in the code represents the sum of the ranking (in the alphabetical) of all 
the vowels in the word.  
For example:  
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S11. Ans.(c) 
S12. Ans.(c) 
S13. Ans.(d)  
S14. Ans.(a)  
S15. Ans.(a) 
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